Math 1030, Homework Activity #7, Summer 2014 Name KGY

Sections 5.3, 5.4

Instructions: Complete the following problems. You may work alone orin a group. Do not just copy
answers from a group member, but be sure that you understand the problem. Similar questions will
appear on exams. You may be asked to explain or present the answers to the class. This assignment is
due at the end of the class period. »

1. Perform the indicated operation and combine like terms to simplify. Use any appropriate
formulas.
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2. Find an expression for the area of the region shown. Simplify.
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3. You have an 8x10 frame, and want to include a border of width x. Draw the shape below and
write an expression for the exposed region inside the border.
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4. Simplify each expression. Write the answer }:’/ith only positive exponents.
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5. Use the division rule to explain why any number to the zero power is equal to one.
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6. Use the negative exponent rule to explain why %l— = a™™™ without using the division rule.
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